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QUESTION 1

Given the following entry in the SAS log:

26 proc transpose data=vitals out=tresp (drop=_label ):
27 by inv nno patid : -

ZB id wisic ;

29 WAL Casp ;

30 run ;

WARNING: 2 obasrvations omicted due to missing ID walues.
NOTE: There were 22 obssrvations cead from the data set WORK.VITALS.
NOTE: The data set TORE.TRESF has B obasrvartions and 6 variah s=s.
NOTE: PROCEDURE TERANSPOSE used (Total process time) @

real time 0.04 seconds

cpu time 0.03 =econds

Which alternate method could you use to? ?Transpose all data ?Not produce a warning message in the log
A. Use PROC TRANSPOSE with a WHERE clause to omit records with missing VISIT values

B. Use PROC COPY with SELECT statements

C. Use PROC DATASETS with SELECT and MODIFY statements

D. Use a DATA step with conditional OUTPUT statements

Correct Answer: D

QUESTION 2

Which validation technique involves two programmers writing separate programs to produce the same output, then

comparing the result?

A. Independent Programming
B. Peer Matching

C. Identical Programming

D. Peer Review

Correct Answer: A

QUESTION 3

The following SAS program is submitted:
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data WORK.TEST;
get WORK.WeTCODE;
if Subjecode=‘lgtd' then Description='dwver';
else Description='"Unknown';

run;

If the value for the variable Subjcode is "WGT2", what is the value of the variable Description?
A. missing character value

B. Unknown

C. Over

D. Wgt2

Correct Answer: B

QUESTION 4

Given the following partial output data set:

JUBRJID VISIT LGE LGECAT

101 1 ZB £
io3 i 42 3
105 2 18 1
106 1 56 3
g7 1 55 3

Which code was used to create AGECAT?

A. if age
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